Efficiency vs dr

0.2

m

asel-newgeom

uareNew_step2 ttbar-'phasel-new‘geom
uareNew2 step2 ttBa- nasel»ne eom
uareNew3_step2_ttbar-phasel-newgeom

o
o
[¢0]
T T T [ T [ I T[T [T [T [T T [ TT T[T TTT[TTT

1072 107

=
S
w

1
TP min AR

[ Efficiency vs dr (track,jet) |
.§0.01
0.009
E
Q.OOS
9.007
>
$9.006
2
359.005
@
0.004
0.003
0.002
0.001

Ratio
=

1073 1072 107
AR(TP, jet)

Efficiency vs pu

50.01
o
©.009
.008
(]
‘©.007
=
®.006
0.005
0.004
0.003
0.002
0.001
9

0.8F

Ratio

0.6




	Contents
	Page 1


